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.XUVL�GXGXN�VXSLU�EXV�PHUXSDNDQ�VDODK�VDWX�NRPSRQHQ�\DQJ�EHUDGD�SDGD�PRGD�
WUDQVSRUWDVL�EXV��NRPSRQHQ�LQL�PHQMXQMDQJ�VHOXUXK�DNWLILWDV�\DQJ�WHUMDGL�GLGDODP�
EXV��DGD�EHEHUDSD�NHNXUDQJDQ�\DQJ�WHUGDSDW�SDGD�NRPSRVLVL�EHQWXN�NXUVL�GXGXN�
VXSLU�EXV�WHUVHEXW�PDND�SHQXOLV�PHODNXNDQ�SHQHOLWLDQ�WHUNDLW�PDVDODK�\DQJ�DGD��
GLVLQL�SHQXOLV�PHUDQFDQJ�VROXVL�DOWHUQDWLYH�XQWXN�NXUVL�GXGXN�VXSLU�EXV�SULPDMDVD�
GHQJDQ�WUD\HN�%DQGXQJ�7DQMXQJ�3ULRN�GHQJDQ�MHQLV�PHVLQ�+\QR��0DVDODK�\DQJ�
WHUMDGL� \DLWX� UDWD�UDWD� VXSLU� PHUDVDNDQ� SHJDO SDGD� DUHD� SXQJJXQJ�� PDVDODK�
WHUVHEXW�ELDVDQ\D�WHUMDGL�NDUHQD�GXUDVL�SHUMDODQDQ�\DQJ�GLWHPSXK��\DLWX�VHNLWDU���
��MDP��NHMDGLDQ�WHUVHEXW�WHUMDGL�GLNDUHQDNDQ�SRVLVL�GXGXN�VXSLU�\DQJ�WLGDN�VHVXDL�
GHQJDQ�VHKDUXVQ\D��DGD�EHEHUDSD� IDNWRU�\DQJ� WLGDN�GLKLUDXNDQ�ROHK�VXSLU��+DO�
WHUVHEXW� VDQJDW� EHUDNLEDW� IDWDO� SDGD� NDVXV� LQL�� NDUHQD� GDSDW� PHQJDNLEDWNDQ�
WXUXQ\D�WLQJNDW�NRQVHQWUDVL�VXSLU�EXV�\DQJ�EHUDNLEDW�SDGD�WHUMDGLQ\D�NHFHODNDDQ�
GL�DNLEDWNDQ�VXSLU�WHUDOLKNDQ�IRNXVQ\D�WHUKDGDS�SHJDO�\DQJ�WHUMDGL��

0HWRGH� SHUDQFDQJDQ \DQJ� DNDQ� GL� JXQDNDQ� GDODP� SHQHOLWLDQ� LQL� DGDODK� MHQLV�
SHQHOLWLDQ� NXDOLWDWLI�� \DLWX� VXDWX� SHQGHNDWDQ� \DQJ� PHQHNDQNDQ� SDGD� DQDOLVLV�
LQGXNWLI�� DQDOLVLV� GHVNULSWLI� GDQ� VWXGL�PHQJHQDL� SHUVHSVL� DWDX� SHQGDSDW� RUDQJ�
7XMXDQ GDUL SHQHOLWLDQ LQL LDODK XQWXN PHQJHWDKXL� DSDNDK� VROXVL� VDUDQD� \DQJ�
GLEXDW�DNDQ�PHQJXUDQJL�WLQJNDW�NHSHJDODQ \DQJ GL DODPL ROHK VXSLU EXV DQWDU NRWD
DQWDU SURYLQVL� ODOX DGDSXOD PDQIDDW \DQJ GDSDW GL DPELO GDUL KDVLO SHQHOLWLDQ LQL
LDODK XQWXN PHPEDQWX PHULQJDQNDQ NHOXKDQ VXSLU EXV GDODP PHQJKDGDSL
NHSHJDODQ SDGD DUHD SXQJJXQJ \DQJ PHUHND DODPL VHODPD LQL�
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